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19 pyc. (nuk.)
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4K R) ) |

10 m.ur. (n/p) 12 pyc(cow.)

oK1 TR

17 pyc. (m31.) 10 Hem. (k/p)

23 oxp.m.(/p) 17 mem. (x/p) 26 mur. (k/p) 17anr. (x/p)

30 mar. (x/p) 18 ucr. (x/p)

31 pyc. (x/p) 23 reom. (x/p)
25 xum. (x/p)
26 o6m, (k/p)

8Kt

16 pye. (x/p)
23 nmr. (x/p)
30 xum. (x/p)
31 aur. (x/p)
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10 xn

P | 11 xa

11 reor. (x/p) 17 pyc. (w/p) 15 m3. (x/n)

19 anr. (x/p) 23 ucr. (tecr) 16 Hem. (k/p)
26 Qus. (k/p) 25 nem. (x/p) 18 marem. (¥/p)
25 nem. (x/p) 29 xum. (x/p)
29 mar.(coq.) 31 ¢ums. (k/p)
30 reom. (k/p)

31 o6, (Tect)



1k 2K 3 KI 4K Ska 6K TR Sk Ok 10 xa 11 ki

7 pyc. (ci/n.) 1 mar. (k/p) 7 pyc. (cou.) 2 pyc. (k/p) 1 HeMm. (k/p) 5 Hem. (K/p) 5 reorp. (x/p) 7 xum. (k/p) 6 Hem. (k/p) 6 reorp. (1/p)

13 mart. (k/p)  70Kp. M. 16 mat. (k/p) 8 mart. (k/p) 2 00. (K/p) 14 pyc. (1uk.) 6 pyc.(cou.) 9 meMm. (k/p) 8 aar. (x/p) 7 mar. (k/p)
(np.p)
20 Hem. (x/p) 22 pyc. (iuk.) 12 Hem. (k/p) 15 reor. (k/p) 20 ucr(x/p) 8 reom. (k/p) 14 pyc. (MC) 20 reom. (k/p) 9 Hem. (k/p)
150.94T.(K/T)
29 a.ur. (mp.p) 28 a.ur. (n/p) 19 pyc. (m31.) 13 uct. (k/p) 21 reor. (k/p) 27 Hem. (k/p) 21 pyc. (A x/p) 12 ¢m3s. (x/p)
27mar.(x/p)
27 pyc. (x/p) 28 aar. (A x/p) 14 pyc. (A x/p)
29 pyec. (k/T)
28 Hem. (k/p) 29 reom. (k/p) 27 xum (k/p)

28 mar. (A k/p)

7 mat. (k/p) 19 a.urt. (K/T) 14 pyc. (x/p) S wucr. (x/p) 6 anar. (x/p) 6 xum. (k/p) 11 gur. (x/p) 5 Hem. (x/p) 2 xum. (BIIP)
20 pyec. (x/m) 21 ucr. (BITP) 18 pyc. (cou.) 11 Hem. (k/p) 7 pyc. (cou.) 12 pyc. (x/p) 4 uctop. (BIIP)
19 6/r (BIIP) 12 reom. (x/p) 14 reom. (k/p) 21 muT.(cou.) 6 HeM. (K/p)
19 ¢u3. (x/p) 19 aut. (x/p) 106m0.1. (BIIP)
20 u/o/r(BIIP) 14 mart. (x/p)

16 ¢us. (BIIP)
19 reor. (BIIP)

29 auT. (cou.)




1 pyc. (nuk.)  Suem. (x/p) 2 mut. (n/p) 9 6moa. (BIIP) 4 mar. (BIIP) 3 6/r/¢ (BIIP) 1 uem. (xk/p) 1 reorp. (k/p) 9 xum. (x/p) 9 reorp. (n/p)
4 nuat. (mp.p) 9 okp.Mm. (k/T) 4 pyec. (cou.) 10 pyc. (k/p) 10 Hem. (x/p) 11 u/o (BIIP) 8 ¢us. (k/p) 9 nem. (k/p) 12 reom(x/p) 10 ¢mu3s. (x/p)
9 okp.m. (mp.p) 11 j.ut. (n/p) 8 Hem. (k/p) 12 Hem. (k/p) 11 reor. (x/p) 16 aur. (x/p) 9 ¢/x/6 (BIIP) 10 pyc. (u3a.) 25 Hem. (k/p) 15 nem. (x/p)
16 pyc. (mux.) 23 mar. (x/t) ox.m. (BIIP) 26 mar. (BIIP) 16 pyc. (co4.) 25 ucrt. (k/p) 10 aar. (x/p) 12 aar. (x/p) 30 aar.(A x/p) 19 mar. (k/p)
17 mar. (k/p) 26 pyc. (x/u3) 10 mar. (x/p) 17 u/o (BIIP) 29 uem. (x/p) 11 pyc. (x/p) 15 aurt. (k/p) 22 pyec. (cou.)
23 HeMm. (K/p) 19 a.ur. (n/p) 26 oou. (k/p) 30 Bep. (x/p) 30 Hem. (k/p) 24 xum. (K/p)

22 pyc. (BIIP) 30 reom. (x/p)

23 pyec. (BIIP)

20 aur.(k/a) 14 mat. (A k/p) 8 pyc. (/m) 7 mat. (BIIP) 10aur. (x/p) 2 Hem. (k/p) 7 reom. (k/p) 2 reorp. (x/p) 13 reorp. (x/p) 8 xum. (k/p) 2 xum. (K/p)

15 okp.m.(mp.p) 10auTt.uT(K/T) 15 HeMm. (K/p)
17 Hem. (x/p)

13 reor. (x/p) 14 pyc. (BIIP)

15 mat.(A x/p) 20 oxp. m(1/p) 14 pye. (BIIP) 16 auT.(x/p)

20 aur.(up./p.) 22okp.m(mp/p) 21 a. ur.(n/p) 22 Hem. (K/p) 22 mar. (k/p)

22 pyc. (A ¥/m) 23 pyc. (A k/p)22 pyc. (k/m)
24 nem. (k/p)

23 mart. (k/p) 23 reor. (k/p)

29 TexH. (k/p) 24 o6 (K/p)

30 uct. (k/p) 27 Tex. (x/p)
28 ucr. (k/p)

8 ¢u3. (x/p)
10 o6m1. (K/p)
13 mar. (BIIP)
14 pyc. (BIIP)
15 reor. (x/p)
21 uct. (k/p)
22 HeMm. (Kk/p)
24 Tex. (k/p)

3 mar. (BIIP)
7 reom. (k/p)
8 xum. (k/p)
13 ¢uz. (x/p)
16 pyc. (BIIP)
21 HeMm. (K/p)
24 Bep. (x/p)
24 o0m1. (TecT)

30 Tex. (TecT)

15 06m. (x/p) 15 pyc.(A x/p) 7 reorp. (u/p)

16 ¢u3. (x/p) 8 pye. (x/p)
22 Bep. (k/p) 15 Hem. (k/p)

17 pye. (x/p)
20 ¢us. (x/p)

22 tex. (Tect) 23 HeMm. (K/p)

22 Bep. (k/p) 29 ucr. (Tect)
24 nem. (k/p) 28 reom. (k/p)

30 aar. (x/p)




